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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1: 
A. obstacle
B. obscure
C. obsession
D. oblivious

Question 2: 
A. agreed
B. succeeded
C. smiled
D. loved
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

Question 3: 
A. future
B. involve
C. prospect
D. guidance

Question 4: 
A. reduction
B. popular
C. romantic
D. financial
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 5: The better the weather is, __________.


A. the most crowded the beaches get
B. the most the beaches get crowded


C. the more crowded the beaches get
D. the more the beaches get crowded

Question 6: Unemployment is a serious problem in the area; there are__________jobs for the people there.


A. a little
B. a few
C. few
D. little

Question 7: Doctors advise people who are deficient
__________Vitamin c to eat more fruit and vegetables.


A. in
B. of
C. from
D. for

Question 8: I suggest that the doctor__________up his mind without delay.


A. makes
B. make
C. made
D. is to make

Question 9: Martha Thomas was an American educator who stood for equal__________rights for women.


A. educated
B. educational
C. educating
D. educationally

Question 10: Books and magazines__________ around made his room very untidy



A. that lie
B. laying
C. which lied
D. lying
Question 11: The cat was_________to wait for the mouse to come out of its hole.


A. patient enough
B. so patient
C. enough patient
D. too patient
Question 12: _________, he would have learned how to read.


A. If he has been able to go school as a child
B. If he could go to school as a child


C. Were he able to go to school as a child
D. Had he been able to go to school as a child

Question 13: He_________a terrible accident while he_________along Ben Luc Bridge.


A. see - am walking

B. saw - was walking


C. was seeing - walked

D. have seen - were walking
Question 14: The use of vitamin__________and herbs has become increasingly popular among Americans.


A. components
B. materials
C. ingredients
D. supplements

Question 15: Peter, Harry and Chuck were first, second, and third__________in the school cross-country race.


A. respectively
B. actively
C. responsively
D. tremendously

Question 16: The government should take__________to reduce the current high unemployment rate.


A. steps
B. measures
C. changes
D. solutions

Question 17: In a formal interview, it is essential to maintain good eye__________with the interviewers.


A. link
B. connection
C. touch
D. contact

Question 18: I know you have been working very hard today. Let’s__________and go home.


A. pull my leg
B. call it a day
C. put your back up
D. push your luck
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Question 19: The board of directors rejected the proposed project, explaining that it was too expensive to be feasible at the present moment.


A. costly
B. troublesome
C. capable
D. practicable

Question 20: A brief outline of the course and bibliography were handed out to the students at the first meeting.


A. dispensed
B. preserved
C. distributed
D. contributed
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 21: The consequences of the typhoon were disastrous due to the lack of precautionary measures.


A. damaging
B. beneficial
C. severe
D. physical

Question 22: Though I persuaded my boss to solve a very serious problem in the new management system, he just made light of it.

A. completely ignored

B. treated as important


C. disagreed with

D. discovered by chance
Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes each of the following exchanges.

Question 23: Ella is asking Eric about self-study.

-
Ella: “Do you think people with self-education can succeed nowadays?”

-
Eric: “__________because they tend to be very independent and self-disciplined.”


A. I’m not so sure about that
B. That’s what I was thinking


C. It’s out of the question
D. I don’t think it’s right

Question 24: Stella and her husband are about to go out.

-
Stella: “Should we take a taxi or a bus to the mall?”

-
Stella’s husband: “__________. It’s impossible to take a taxi during rush hours.”


A. Let’s take a taxi

B. Let’s take a bus


C. Good idea

D. Yes, we should
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 25 to 29.


Amy Tan was born on February 19, 1952 in Oaldand, California. Tan grew up in Northern California, (25)__________when her father and older brother both died from brain tumors in 1966, she moved with her mother and younger brother to Europe, where she attended high school in Montreux, Switzerland. She returned to the United States for college. After college, Tan worked as a language development consultant and as a corporate freelance writer. In 1985, she wrote the “Rules of the Game” for a writing workshop, which laid the early (26) __________for her first novel The Joy Luck Club. Published in 1989, the book explored the (27) __________between Chinese women and their Chinese-American daughters, and became the longest-running New York Times bestseller for that year. The Joy Luck Club received numerous awards, including the Los Angeles Times Book Award. It has been translated into 25 languages, including Chinese, and was made into a major motion picture for (28) __________Tan co-wrote the screenplay. Tan’s other works have also been (29) __________into several different forms of media.

Question 25: 
A. however
B. moreover
C. so
D. but

Question 26: 
A. preparation
B. base
C. source
D. foundation

Question 27: 
A. relate
B. relative
C. relationship
D. relatively

Question 28: 
A. whom
B. that
C. what
D. which

Question 29: 
A. adjoined
B. adapted
C. adjusted
D. adopted

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 30 to 34.


In this era of increased global warming and diminishing fossil fuel supplies, we must begin to put a greater priority on harnessing alternative energy sources. Fortunately, there are a number of readily available, renewable resources that are both cost-effective and earth-friendly. Two such resources are solar power and geothermal power. Solar energy, which reaches the earth through sunlight, is so abundant that it could meet the needs of worldwide energy consumption 6,000 times over. And solar energy is easily harnessed through the use of photovoltaic cells that convert sunlight into electricity. In the US alone, more than 100,000 homes are equipped with solar electric systems in the form of solar panels or solar roof tiles. And in other parts of the world, including many developing countries, the use of solar system is growing steadily.


Another alternative energy source, which is abundant in specific geographical areas, is geothermal power, which creates energy by tapping heat from below the surface of the earth. Hot water and steam that are trapped in underground pools are pumped to the surface and used to run a generator, which produces electricity. Geothermal energy is 50,000 times more abundant than the entire known supply of fossil fuel resources. And as with solar power, the technology needed to utilize geothermal energy is fairly simple. A prime example of effective geothermal use is in Iceland, a region of high geothermal activity where over 80 percent of private homes are heated by geothermal power. Solar and geothermal energy are just two of promising renewable alternatives to conventional energy sources. The time is long overdue to invest in the development and use of alternative energy on a global scale.

Question 30: According to the passage, why should we consider using alternative energy sources?


A. Because fossil fuels are no longer available.


B. Because global warming has increased the amount of sunlight that reaches the earth.


C. Because they are free and available worldwide.


D. Because conventional energy resources are being depleted, and they cause environmental damage
Question 31: The word “harnessing” in the first paragraph can best be replaced by__________?


A. capturing
B. harassing
C. depleting
D. exporting

Question 32: All of the following statements are true about geothermal energy EXCEPT__________.


A.
it is abundant in specific geographical areas


B.
it is more abundant than fossil fuel resources


C. it is used without success in Iceland


D. it is a promising renewable alternative

Question 33: The word “which” in paragraph 2 refers to__________.


A. hot water
B. steam
C. a generator
D. the surface

Question 34: What is the main topic of this passage?


A. The benefits of solar and wind power over conventional energy sources.


B. How energy resources are tapped from nature.


C. Two types of alternative energy sources that should be further utilized.


D. Examples of the use of energy sources worldwide.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 35 to 42.


When a popular book gets made into a movie, there will always be a debate about whether the novel or film is better. The filmmakers always have to consider certain things: do they want to follow the book closely to please dedicated readers, or do they want to change parts of the book if they don’t translate well on-screen? No matter what they do, there will always be people who feel the movie will never be as good as the book, people who will love the movie without ever reading the book, and people who enjoy both.


The vampire series Twilight, by Stephenie Meyer, became so popular that movie companies wanted to produce it for the big screen. Most Twilight fans were excited about seeing characters such as Edward and Bella “come to life,” but there were other fans who did not trust the movie script. They assumed the scriptwriters would change parts of the story to make it seem more interesting as a movie.


By the time the first Twilight movie was released, millions of people had read the series. Many of these people went on to watch the film, which made $35.7 million just on its opening day. While many fans and critics liked it and said the movie more or less followed the book’s storyline, some fans were not impressed. One change that angered them was that certain sound effects were added to the movie, such as a “whooshing” sound when the vampires jumped. This was not mentioned in the book, and many fans felt that it was too distracting.


Those who liked the movie said they enjoyed the light mood and excitement. This was very different from the book. The writing in Twilight is dark and gloomy, like many vampire novels. The movie, however, added more energy to the story and more personality to the characters. For example, many characters in the book are portrayed as being quiet, and they spend most of their time at school. But in the movie, the characters are cooler and funnier, one scene even shows them going surfing together. The director of the first movie, Catherine Hardwicke, thought it was important for the characters to be believable. She wanted them to have a wide variety of emotions, since the series is for, and about, teenagers.


In the end, the films were considered a success, even if there were both happy and unhappy fans. It’s a great accomplishment to make films that are watched by millions of people, and you can’t expect to be able to please everyone all the time.
Question 35: What best serves as the title for the passage?


A. Twilight: a Successful Novel
B. Twilight: the Film and the Novel


C. Famous Books Made into Movies
D. A Comparison of Movies and Books

Question 36: Which of the following is NOT considered by film-makers who make movies out of books?


A.
whether they adhere to the book closely


B.
how they would change parts of the book


C. how to satisfy avid readers of the book


D. how many characters will appear in the movie

Question 37: According to the passage, what is the reason Twilight fans were excited to see the movie?


A.
to see which actors would play their favourite characters


B.
to see how the story would change


C. to see how characters would be in real life


D. to see if the movie would be better than the book

Question 38: Why is vampires jumping mentioned in the passage?


A.
It’s an example of a change that displeased fans.


B.
It was a special effect and not real.


C. It showed that the movie was scary.


D. It’s an example of a sound effect.

Question 39: The word “translate” in paragraph 1 is closest in meaning to__________.


A. understand

B. express in a different language


C. change into a different form
D. appear

Question 40: The word “angered” in paragraph 3 is closest in meaning to__________.


A. affected
B. made angry
C. attracted
D. pleased

Question 41: According to the passage, what was hardly changed in the movie compared to the book?


A. storyline

B. mood


C. personalities of characters
D. sound effects

Question 42: The word “them” in paragraph 4 refers to__________.


A. directors
B. actors
C. characters
D. fans

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

Question 43: It was disappointing that almost of the guests left the wedding too early.




A                        B                         C                     D

Question 44: As seeing from the mountain top, the area looks like a picturesque harbour town.

                               A         B
               C                                D

Question 45: John announced that he could not longer tolerate the conditions of the contract under which he was working.
        A                         B
                                        C                             D 

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 46: “Believe me. It’s no use reading that book,” Janet told her boyfriend.


A.
Janet suggested to her boyfriend that reading the book was useful.


B.
Janet managed to persuade her boyfriend that reading the book was worthwhile.


C. Janet tried to convince her boyfriend that the book was not worth reading


D. Janet opposed her boyfriend’s idea that reading the book was not useful.
Question 47: I am sure he did not know that his brother graduated with flying colors.


A.
That his brother graduated with flying colors must have been appreciated by him.


B.
He cannot have known that his brother graduated with very high marks.


C. He should not have been envious of his brother’s achievement.


D. He may not know that his brother is flying gradually up in a colorful balloon.

Question 48: The teacher had only just come in the room when the fire alarm rang.


A.
While the teacher was coming in the room, she heard the fire alarm ring.


B.
As soon as the fire alarm had rung, the teacher came in the room.


C. Before the teacher came in the room, the fire alarm rang.


D. Hardly had the teacher come in the room when the fire alarm rang.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 49: He cannot lend me the book now. He has not finished reading it yet.


A.
Having finished reading the book, he cannot lend it to me.


B.
He cannot lend me the book until he has finished reading it.


C. As long as he cannot finish reading the book, he will lend it to me.


D. Not having finished reading the book, he will lend it to me.

Question 50: Most scientists know him well. However, very few ordinary people have heard of him.


A.
Not only scientists but also the general public know him as a big name.


B.
Although he is well known to scientists, he is little known to the general public.


C. Many ordinary people know him better than most scientists do.


D. He is the only scientist that is not known to the general public.
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LỜI GIẢI CHI TIẾT

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1: Đáp án A
A. obstacle /ˈɒbstəkl/
B. obscure /əbˈskjʊə(r)/

C. obsession /əbˈseʃn/
D. oblivious /əˈblɪviəs/

Question 2: Đáp án B
Giải thích: Phương án D có phụ âm cuối /d/ nên -ed được phát âm là /ɪd/, các phương án A, C, D có

âm cuối lần lượt là /i:/, /l/ và /v/ nên -ed được phát âm là /d/.

A. agreed /əˈɡriːd/
B. succeeded /səkˈsiːdɪd/
C. smiled /smaɪld

D. loved /lʌvd/
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

Question 3: Đáp án B
A. future /ˈfjuːtʃə(r)/
B. involve /ɪnˈvɒlv/

C. prospect /ˈprɒspekt/ 
D. guidance /ˈɡaɪdns/
Question 4: Đáp án B
A. reduction /rɪˈdʌkʃn/
B. popular /ˈpɒpjələ(r)/

C. romantic /rəʊˈmæntɪk/
D. financial /faɪˈnænʃl/

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions
Question 5: Đáp án C
Giải thích: cấu trúc so sánh kép: the + tính từ/ trạng từ ngắn-er + S + V/ to be, the more + tính từ/ trạng từ dài + S + V/ to be (càng... thì càng...)

Dịch nghĩa: Thời tiết càng đẹp thì các bãi biển càng đông đúc.
Question 6: Đáp án C
Giải thích: Sau vị trí cần điền là danh từ đếm được số nhiều jobs (việc làm) nên a little và little không phù hợp (vì chỉ đi với danh từ không đếm được). Dựa vào nghĩa của câu, few (rất ít - mang nghĩa tiêu cực) là phù hợp nhất.

Dịch nghĩa: Thất nghiệp là một vấn đề nghiêm trọng ở vùng ấy; có rất ít việc làm cho người dân ở đó.
Question 7: Đáp án A
Giải thích: Cụm từ: be deficient in ... (thiếu)
Dịch nghĩa: Các bác sĩ khuyên những người thiếu Vitamin C nên ăn nhiều trái cây và rau quả. 

Question 8: Đáp án B
Giải thích: cấu trúc câu giả định: S1 + suggest + that + S2 + bare-V

Dịch nghĩa: Tôi đề nghị bác sĩ ra quyết định ngay.

Question 9: Đáp án B
Giải thích: Sau vị trí cần điền là danh từ nên ta cần tính từ để bổ nghĩa.

Dịch nghĩa: Martha Thomas là một nhà giáo dục người Mỹ, người đại diện cho quyền bình đăng về giáo dục của phụ nữ.

Question 10: Đáp án D
Giải thích: Phương án A dùng thì hiện tại đơn không phù hợp vì câu đang diễn tả sự việc trong quá khứ.

Phương án B (laying - đặt, để) và C (lied - nói dối) không phù hợp về nghĩa. Vậy phương án D dùng danh động từ lying (nằm) để rút gọn mệnh đề quan hệ ở dạng chủ động là chính xác nhất. 
Dịch nghĩa: Sách và tạp chí nằm ở khắp nơi khiến căn phòng của anh ấy rất bừa bộn.
Question 11: Đáp án A
Giải thích: cấu trúc: to be + tính từ + enough + (for sb) + to-V (đủ...để làm gì đó) phù hợp về nghĩa của câu.

Dịch nghĩa: Con mèo đủ kiên nhẫn để đợi con chuột chui ra khỏi cái lỗ của nó.

Question 12: Đáp án D
Giải thích: Vì trong mệnh đề chính, động từ được chia ở dạng would have + quá khứ phân từ (would have learned) nên đây là câu điều kiện loại 3. Động từ trong mệnh đề if sẽ được chia ở thì quá khứ hoàn thành had + p.p. Trong bốn phương án chỉ có phương án D là phù hợp, khi sử dụng đảo ngữ Had + S + p.p. 
Dịch nghĩa: Nếu anh ấy có thể đến trường khi còn nhỏ thì anh ấy đã học cách đọc.

Question 13: Đáp án B
Giải thích: Dựa vào nghĩa của câu, ta thấy sự việc thấy một vụ tai nạn xen ngang vào hành động đi bộ dọc cây cầu đang xảy ra ở quá khứ. Hành động đang xảy ra (sau while) sẽ được chia ở thì quá khứ tiếp diễn theo chủ ngữ số ít he là was walking, hành động xen ngang (trước while) được chia ở thì quá khứ đơn là saw.

Dịch nghĩa: Anh ta thấy một tai nạn kinh hoàng khi đang đi bộ dọc cây cầu Bến Lức.

Question 14: Đáp án D
Giải thích:

A. components (n.): thành phần
B. materials (n.): nguyên liệu, vật liệu
C. ingredients (n.): thành phần
D. supplements (n.): chất bổ sung

Dịch nghĩa: Việc sử dụng các chất bổ sung vitamin và thảo dược đã trở nên ngày càng phổ biến đối với người Mỹ.

Question 15: Đáp án A
Giải thích:

A. respectively (adv.): lần lượt, theo thứ tự định sẵn

B. actively (adv.): tích cực, hăng hái

C. responsively (adv.): đáp ứng nhiệt tình

D. tremendously (adv.): bao la, to lớn

Dịch nghĩa: Peter, Harry và Chuck lần lượt đứng thứ nhất, thứ hai và thứ ba trong cuộc đua xuyên quốc gia của trường.

Question 16: Đáp án B
Giải thích:

A. steps (n.): bước

B. measures (n.): biện pháp

C. changes (n.): thay đổi
D. solutions (n.): giải pháp

Cụm từ: take measures (có biện pháp)

Dịch nghĩa: Chính phủ cần có biện pháp giảm tỷ lệ thất nghiệp cao hiện nay.
Question 17: Đáp án D
Giải thích: Cụm từ: eye contact (giao tiếp bằng mắt)

Dịch nghĩa: Trong một cuộc phỏng vấn chính thức, điều cần thiết là duy trì giao tiếp bằng mắt với người phỏng vấn
Question 18: Đáp án B
Giải thích:

A. pull my leg: trêu đùa


B. call it a day: nghỉ tay thôi, ngưng lại thôi

C. put your back up: miệt mài làm việc 
D. push your luck: liều thử vận may

Dịch nghĩa: Tôi biết bạn đã làm việc rất chăm chỉ ngày hôm nay. Hãy nghỉ tay thôi và về nhà nghỉ ngơi đi.

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Question 19: Đáp án D
Giải thích: The board of directors rejected the proposed project, explaining that it was too expensive to be feasible at the present moment. (Hội đồng quản trị đã từ chối dự án được đề xuất, giải thích rằng nó quá tốn kém để có thể khả thi tại thời điểm hiện tại.)

A. costly (adj.): tốn kém

B. troublesome (adj.): rắc rối

C. capable (adj.): có khả năng
D. practicable (adj.): khả thi, có thể thực hiện được

Như vậy, feasible có nghĩa tương đồng với phương án D.

Question 20: Đáp án C
Giải thích: A brief outline of the course and bibliography were handed out to the students at the first meeting. (Một phác thảo ngắn gọn về khóa học và thư mục đã được phát cho các sinh viên trong buổi gặp mặt đầu tiên.)
A. dispensed (v.): phân phối

B. preserved (v.): bảo quản, bảo tồn

C. distributed (v.): phân phát

D. contributed (v.): đóng góp

Như vậy, handed out có nghĩa tương đồng với phương án C.

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 21: Đáp án B
Giải thích: The consequences of the typhoon were disastrous due to the lack of precautionary measures. (Hậu quả của cơn bão thật thảm khốc do thiếu các biện pháp phòng ngừa.)

A. damaging (adj.): gây hại

B. beneficial (adj.): có lợi

C. severe (adj.): khốc liệt, dữ dội
D. physical (adj.): thể chất

Như vậy, disastrous có nghĩa tương phản với phương án B.

Question 22: Đáp án B
Giải thích: Though I persuaded my boss to solve a very serious problem in the new management system, he just made light of it. (Mặc dù tôi đã thuyết phục sếp của mình giải quyết một vấn đề rất nghiêm trọng trong hệ thống quản lý mới nhưng anh ta vẫn xem như là không quan trọng.) 
A. completely ignored: hoàn toàn lờ đi

B. treated as important: được coi là quan trọng

C. disagreed with: không đồng ý với

D. discovered by chance: được phát hiện tình cờ

Như vậy, made light of it có nghĩa tương phản với phương án B.

Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes each of the following exchanges.

Question 23: Đáp án B
Giải thích: Cuộc hội thoại thuộc chủ đề đưa ra ý kiến cá nhân.

Dịch nghĩa 4 phương án:

A. Tôi không chắc lắm về điều đó
B. Đó là những gì tôi đang nghĩ

C. Nó là điều không thể được

D. Tôi không nghĩ rằng nó đúng
Dịch nghĩa: Ella đang hỏi Eric về việc tự học.

- Ella: "Bạn có nghĩ rằng ngày nay những người có khả năng tự học có thể thành công không?"

- Eric: "Đó là những gì tôi nghĩ vì họ có xu hướng rất độc lập và tự kỷ luật."

Question 24: Đáp án B
Giải thích: Lời đáp lại thểhiện sự lựa chọn với câu hỏi được đưa ra.

Dịch nghĩa 4 phương án:

A. Đi taxi nhé


B. Đi xe buýt nhé

C. Ý tưởng hay đó

D. Có, chúng ta nên chứ

Dịch nghĩa: Stella và chồng sắp ra ngoài.

- Stella: "Chúng ta nên đi taxi hay xe buýt đến trung tâm thương mại nhỉ?"

- Chồng Stella: "Đi xe buýt nhé. Đi taxi trong giờ cao điểm là điều không thể."

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 25 to 29.

Question 25: Đáp án D
Giải thích: Dựa vào nghĩa của câu, liên từ but (nhưng - được dùng để diễn tả sự đối lập) là phù hợp nhất.

Question 26: Đáp án D
Giải thích:

A. preparation (n.): sự chuẩn bị

B. base (n.): cơ sở, căn cứ

C. source (n.): nguồn



D. foundation (n.): nền tảng, nền móng

Question 27: Đáp án C
Giảỉ thích: Trước vị trí cần điền là mạo từ the nên ta cần điền danh từ.

Question 28: Đáp án D
Giải thích: Để thay thế cho danh từ chỉ vật a major motion picture (một bộ phim điện ảnh lớn), ta dùng đại từ quan hệ which hoặc that. Tuy nhiên, trước vị trí cần điền là giới từ for nên đại từ which là phù hợp nhất. Câu ban đầu sẽ là It has been translated into 25 languages, including Chinese, and was made into a major motion picture which Tan co-wrote the screenplay for. Giới từ for không phải là thành phần của cụm động từ nên ta có thể đẩy lên trước đại từ quan hệ which.
A. adjoined (v.): nối liền 

B. adapted (v.): phỏng theo, sửa lại cho hợp

C. adjusted (v.): điều chỉnh 

D. adopted (v.): chấp nhận, thông qua

Dịch nghĩa toàn bài:


Amy Tan sinh ngày 19 tháng 2 năm 1952 tại Oakland, California. Tan lớn lên ở Bắc California, nhưng khi cả cha và anh trai cô đều qua đời vì bệnh u não năm 1966, cô cùng mẹ và em trai đến châu Âu, nơi cô học trung học ở Montreux, Thụy Sĩ. Cô trở về Hoa Kỳ để học đại học. Sau khi học đại học, Tan làm tư vấn phát triển ngôn ngữ và là một nhà văn tự do đoàn thể. Năm 1985, cô đã viết cuốn sách "Rules of the Game" cho một hội thảo viết sách, đặt nền móng ban đầu cho cuốn tiểu thuyết đầu tiên của mình là "The Joy Luck Club". Được xuất bản vào năm 1989, cuốn sách đã đi sâu tìm hiểu mối quan hệ giữa phụ nữ Trung Hoa và các cô con gái người Mỹ gốc Hoa của họ, và trở thành cuốn sách bán chạy nhất của tờ báo New York Times vào năm đó. Cuốn tiểu thuyết "The Joy Luck Club" đã nhận được nhiều giải thưởng, bao gồm Giải thưởng Cuốn sách Thời báo Los Angeles. Nó đã được dịch sang 25 ngôn ngữ, bao gồm cả tiếng Trung Quốc, và được dựng thành một bộ phim điện ảnh lớn mà Tan đồng sáng tác kịch bản. Các tác phẩm khác của Tan cũng đã được chuyển thể thành nhiều hình thức truyền thông khác nhau
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 30 to 34.

Dịch nghĩa toàn bài:
	
Trong thời đại nóng lên toàn cầu gia tăng, nguồn nhiên liệu hóa thạch ngày càng giảm, chúng ta bắt đầu phải dành nhiều ưu tiên1 hơn cho việc khai thác các nguồn năng lượng thay thế. May mắn thay, có một số nguồn tài nguyên tái tạo2 có sẵn, vừa hiệu quả vừa thân thiện với trái đất. Hai nguồn tài nguyên như vậy là năng lượng mặt trời và năng lượng địa nhiệt. Năng lượng mặt trời, đến trái đất thông qua ánh sáng mặt trời, dồi dào3 đến mức nó có thể đáp ứng gấp 6.000 lần nhu cầu tiêu thụ năng lượng trên toàn thế giới. Và năng lượng mặt trời dễ dàng được khai thác thông qua việc sử dụng các pin quang điện chuyển đổi ánh sáng mặt trời thành điện năng. Chỉ riêng tại Mỹ, hơn 100.000 ngôi nhà được trang bị hệ thống điện mặt trời dưới dạng tấm pin mặt trời hoặc ngói lợp năng lượng mặt trời. Và ở những nơi khác trên thế giới, bao gồm nhiều nước đang phát triển, việc sử dụng năng lượng mặt trời đang tăng lên đều đặn.


Một nguồn năng lượng thay thế khác, có nhiều ở các khu vực địa lý nhất định, là năng lượng địa nhiệt, tạo ra năng lượng bằng cách dùng nhiệt từ bên dưới bề mặt trái đất. Nước nóng và hơi nước bị mắc kẹt trong các hồ ngầm được bơm lên bề mặt và được sử dụng để chạy máy phát điện, sản xuất điện. Năng lượng địa nhiệt dồi dào gấp 50.000 lần so với toàn bộ nguồn cung cấp nhiên liệu hóa thạch đã biết. Và cũng như năng lượng mặt trời, công nghệ cần thiết để sử dụng4 năng lượng địa nhiệt khá đơn giản. Một ví dụ điển hình của việc sử dụng địa nhiệt hiệu quả là ở Iceland, một khu vực có hoạt động địa nhiệt cao, nơi có hơn 80% nhà riêng được sưởi ấm bằng năng lượng địa nhiệt. 
Năng lượng mặt trời và năng lượng địa nhiệt chỉ là hai trong số các giải pháp thay thế tái tạo đầy hứa hẹn cho các nguồn năng lượng thông thường5. Đầu tư vào phát triển và sử dụng năng lượng thay thế trên quy mô toàn cầu đáng lẽ phải được thực hiện từ lâu rồi.
	1. priority (n.)

2. renewable (adj.)

3. abundant (adj.)

4. utilize (v.)

5. conventional (adj.)


Question 30: Đáp án D
Dịch nghĩa câu hỏi: Theo đoạn văn, tại sao chúng ta nên xem xét sử dụng các nguồn năng lượng thay thế?

A. Vì nhiên liệu hóa thạch không còn nữa.

B. Vì sự nóng lên toàn cầu đã làm tăng lượng ánh sáng mặt trời đến trái đất.

C. Bởi vì chúng là miễn phí và có sẵn trên toàn thế giới.

D. Vì các nguồn năng lượng thông thường đang bị cạn kiệt và chúng gây hại cho môi trường.

Giải thích: Thông tin ở câu đầu tiên của đoạn 1: In this era of increased global warming and di-minishing fossil fuel supplies, we must begin to put a greater priority on harnessing alternative energy sources.

Question 31: Đáp án A
Dịch nghĩa câu hỏi: Từ "harnessing" trong đoạn đầu tiên có thể thay thế bằng?

A. giành được

B. quấy rối
C. cạn kiệt
D. xuất khẩu

Giải thích: Từ harnessing (khai thác) có nghĩa tương đồng với phương án A.

Question 32: Đáp án C
Dịch nghĩa câu hỏi: Tất cả các câu sau đây đều đúng về năng lượng địa nhiệt NGOẠI TRỪ:___________
A. Nó có nhiều ở các khu vực địa lý nhất định.

B. Nó phong phú hơn nhiên liệu hóa thạch.

C. Nó đã được sử dụng không thành công ở Iceland
D. Đây là một nguồn năng lượng tái tạo đầy hứa hẹn thay thế các nguồn năng lượng thông thường.

Giải thích: Thông tin ở câu sau của đoạn 2: A prime example of effective geothermal use is in Ice¬land, a region of high geothermal activity where over 80 percent of private homes are heated by geothermal power. Như vậy, năng lượng địa nhiệt được sử dụng thành công ở Iceland nên phương án C không phù hợp.

Question 33: Đáp án C
Dịch nghĩa câu hỏi: Từ "which" trong đoạn 2 đề cập đến____________.
A. nước nóng

B. hơi nước
C. máy phát điện
D. bề mặt

Giải thích: Trong câu Hot water and steam that are trapped in underground pools are pumped to the surface and used to run a generator, which produces electricity. Ta thấy đại từ quan hệ which thay thế cho danh từ generator đứng ngay phía trước nên phương án C phù hợp nhất.

Question 34: Đáp án C
Dịch nghĩa câu hỏi: Chủ đề chính của đoạn văn này là gì?

A. Lợi ích của năng lượng mặt trời và gió so với các nguồn năng lượng thông thường.

B. Các nguồn năng lượng được khai thác từ tự nhiên như thế nào.

C. Hai nguồn năng lượng thay thế cần được tiếp tục sử dụng.

D. Ví dụ về việc sử dụng các nguồn năng lượng trên toàn thế giới.

Giải thích: Đoạn văn thứ nhất của bài chủ yếu nói về nguồn năng lượng mặt trời và đoạn văn thứ hai nói về năng lượng địa nhiệt nên phương án C là phù hợp nhất.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 35 to 42.

Dịch nghĩa toàn bài:
	
Khi một cuốn sách nổi tiếng được chuyển thể thành phim, sẽ luôn có một cuộc tranh luận1 xem cuốn sách hay bộ phim hay hơn. Các nhà làm phim luôn phải xem xét những điều sau: họ có muốn bám sát nội dung cuốn sách để làm hài lòng các độc giả, hay thay đối một số phần của cuốn sách nếu chúng không thế được truyền tải tốt qua màn ảnh? Cho dù họ làm như thế nào thì vẫn luôn có những người cảm thấy bộ phim sẽ không bao giờ hay được như cuốn sách, những người yêu bộ phim mà không bao giờ đọc sách và những người thích cả hai.


Loạt phim ma cà rồng Chạng vạng của Stephenie Meyer trở nên nổi tiếng đến mức mà các công ty làm phim muốn sản xuất nó để chiếu trên màn hình lớn. Hầu hết những người hâm mộ của bộ phim này đều rất hào hứng muốn thấy các nhân vật2 như Edward và Bella “đi vào đời thực”, nhưng cũng có những người hâm mộ không tin tưởng vào kịch bản phim. Họ cho rằng biên kịch3 sẽ thay đổi các phần của câu chuyện để làm cho bộ phim thú vị hơn.


Vào thời điểm bộ phim Chạng vạng đầu tiên được công chiếu4, hàng triệu người đã đọc bộ sách này. Nhiều người trong số họ đã đến xem phim giúp nhà sản xuất thu về 35,7 triệu đô la chỉ trong ngày công chiếu. Trong khi nhiều nhà phê bình5 và người hâm mộ thích bộ phim và nói rằng nó ít nhiều giữ được cốt truyện của cuốn sách, một số người hâm mộ lại không bị thuyết phục. Một thay đổi khiến cho họ cảm thấy phiền phức là những hiệu ứng âm thanh nhất định được đưa vào phim, như tiếng "whooshing" khi ma cà rồng nhảy. Điều này không được nhắc đến Long cuốn sách, và nhiều người hâm mộ cảm thấy nó dễ gây mất tập trung6.


Những người thích bộ phim này nói rằng họ thích sự nhẹ nhàng và thú vị của nó. Lối viết của Chạng vạng tối tăm và ảm đạm7, giống như nhiều tiểu thuyết ma cà rồng khác. Trong khi đó bộ phim lại mang đến nhiều năng lượng hơn cho câu chuyện và nhiều cá tính hơn cho các nhân vật. Chẳng hạn, nhiều nhân vật Long cuốn sách được mô tả8 khá trầm lặng và dành phần lớn thời gian ở trường. Nhưng trong phim, các nhân vật đó hay ho và hài hước hơn - thậm chí còn có cảnh quay họ đi lướt sóng với nhau. Catherine Hardwicke, đạo diễn9 của bộ phim đầu tiên, nghĩ rằng việc làm cho các nhân vật trở nên đáng tin cậy rất quan trọng. Bà muốn họ có thật nhiều cảm xúc, bởi loạt phim này là về thanh thiếu niên và cũng dành cho thanh thiếu niên.


Cuối cùng, bộ phim được coi là một thành công, kể cả khi có những người hâm mộ hài lòng và không hài lòng. Đó là một thành tựu10 lớn khi tạo ra được một bộ phim có hàng triệu người xem, và bạn không thể mong đợi việc lúc nào cũng có thể làm hài lòng tất cả mọi người.
	1. debate (n.)

2. characters (n.)

3. scriptwriters (n.)

4. released (v.)

5. critics (n.)

6. distracting (adj.)

7. gloomy (adj.)

8. portrayed (v.)

9. director (n.)

10. accomplishment (n.)


Question 35: Đáp án B
Dịch nghĩa câu hỏi: Ý nào dưới đây là tiêu đề phù hợp nhất cho đoạn văn?

A. Chạng Vạng: Một Tiểu Thuyết Thành Công

B. Chạng Vạng: Phim và Tiểu Thuyết

C. Những Cuốn Sách Noi Tiếng Được Làm Thành Phim
D. So Sánh Phim và Sách

Giải thích: Cả đoạn văn nói về thành công của bộ phim Chạng vạng - bộ phim được chuyển thể từ tiểu thuyết nên phương án B phù hợp nhất.

Question 36: Đáp án D
Dịch nghĩa câu hỏi: Điều nào sau đây KHÔNG được xem xét bởi các nhà làm phim xây dựng những

bộ phim chuyển thể từ sách?

A. liệu họ có bám sát nội dung cuốn sách

B. họ sẽ thay đổi các phần của cuốn sách như thế nào

C. làm thế nào để thỏa mãn các độc giả cuồng nhiệt của cuốn sách

D. có bao nhiêu nhân vật sẽ xuất hiện trong phim

Giải thích: Các phương án A, B và C được nhắc đến trong câu 2 của đoạn 1: The filmmakers always have to consider certain things: do they want to follow the book closely (A) to please dedicated readers (C), or do they want to change parts of the book (B) if they don’t translate well on-screen?

Question 37: Đáp án C
Dịch nghĩa câu hỏi: Theo đoạn văn, lý do gì khiến người hâm mộ tiểu thuyết Chạng vạng hào hứng khỉ xem bộ phim này?

A. để xem diễn viên nào sẽ đóng nhân vật yêu thích của họ

B. để xem câu chuyện sẽ thay đổi như thế nào

C. để xem các nhân vật sẽ như thế nào trong cuộc sống thực 
D. để xem liệu bộ phim có hay hơn cuốn sách hay không

Giải thích: Thông tin ở câu hai của đoạn 2: Most Twilight fans were excited about seeing characters such as Edward and Bella "come to life," come to life ở đây được hiểu là đi vào đời thực, trở nên sống động, nghĩa là câu chuyện được thể hiện bởi những con người thật.

Question 38: Đáp án A
Dịch nghĩa câu hỏi: Tại sao việc ma cà rồng nhảy được đề cập trong đoạn văn ?

A. Nó là một ví dụ về sự thay đổi khiến người hâm mộ khó chịu.

B. Đó là một hiệu ứng đặc biệt và không có thật.

C. Nó cho thấy bộ phim thật đáng sợ.

D. Nó là một ví dụ về hiệu ứng âm thanh.

Giải thích: Thông tin ở câu 4 của đoạn 3: One change that angered them was that certain sound effects were added to the movie, such as a “whooshing’ sound when the vampires jumped.

Question 39: Đáp án C
Dịch nghĩa câu hỏi: Từ "translate" trong đoạn 1 có nghĩa gần nhất với___________.

A. hiểu




B. diễn đạt bằng một ngôn ngữ khác

C. thay đổi thành một dạng khác
D. xuất hiện

Giải thích: Từ translate (truyền tải) có nghĩa tương đồng với phương án C
Question 40: Đáp án B
Dịch nghĩa câu hỏi: Từ “angered” trong đoạn 3 có nghĩa gần nhất với___________.
A. bị ảnh hưởng
B. khiến ai bực bội 

C. thu hút 

D. hài lòng

Giải thích: Từ angered (làm cho tức giận) có nghĩa tương đồng với phương án B
Question 41: Đáp án A
Dịch nghĩa câu hỏi: Theo đoạn văn, điều gì hầu như không thay đổi trong phim so với cuốn sách?

A. cốt truyện


B. tâm trạng

C. tính cách của nhân vật
D. hiệu ứng âm thanh

Giải thích: Thông tin ở câu sau của đoạn 3: While many fans and critics liked it and said the movie more or less followed the book’s storyline

Question 42: Đáp án C
Dịch nghĩa câu hỏi: Từ "them" trong đoạn 4 đề cập đến___________.

A. đạo diễn

B. diễn viên
C. nhân vật
D. người hâm mộ

Giải thích: Them ở đây đề cập đến characters được nhắc đến trong câu trước đó The director of the first movie, Catherine Hardwicke, thought it was important for the characters to be believable.

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions'.

Question 43: Đáp án B
almost of → almost all (of)

Giải thích: cấu trúc: Almost all (of) + the+ danh từ (hầu hết tất cả...)

Dịch nghĩa: Thật đáng thất vọng khi hầu hết các khách mời rời khỏi đám cưới quá sớm.

Question 44: Đáp án A
As seeing → As seen

Giải thích: Hai hành động trong câu có cùng chủ ngữ là the area. Dựa vào nghĩa, mệnh đề cần rút gọn mang nghĩa bị động nên ta dùng dạng quá khứ phân từ.

Dịch nghĩa: Khi được nhìn từ trên đỉnh núi, khu vực này giống như một thị trấn hải cảng đẹp như tranh vẽ.

Question 45: Đáp án B
not longer → no longer

Giải thích: cấu trúc: can no longer do sth (không còn có thể làm gì)

Dịch nghĩa: John tuyên bố rằng anh ta không còn có thể chịu đựng được các điều kiện của hợp đồng mà anh ta đang làm việc nữa.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 46: Đáp án C
Giải thích: “Believe me. It’s no use reading that book,” Janet told her boyfriend. ("Tin em đi. Đọc cuốn sách đó không có ích gì cả, "Janet nói với bạn trai cô ấy.

A. Janet đã đề nghị với bạn trai rằng việc đọc cuốn sách ấy rất hữu ích.

B. Janet đã thuyết phục được bạn trai rằng đọc cuốn sách ấy là việc đáng làm.

C. Janet đã cố gang thuyết phục bạn trai của mình rằng cuốn sách ấy không đáng đọc. 
D. Janet phản đối ý kiến của bạn trai rằng việc đọc cuốn sách này không hữu ích. 
Vậy phương án C phù hợp nhất.

Question 47: Đáp án B
Giải thích: I am sure he did not know that his brother graduated with flying colors. (Tôi chắc chắn anh ta không biết rằng anh trai mình tốt nghiệp với kết quả mỹ mãn.)

A. Việc anh trai tốt nghiệp với kết quả mỹ mãn chắc hẳn đã được anh ấy đánh giá cao.

B. Anh ta không thể biết rằng anh trai mình tốt nghiệp với điểm số rất cao.

C. Anh ấy không nên ghen tị với thành tích của anh trai mình.

D. Anh ta có thể không biết rằng anh trai mình đang bay dần lên trong một quả bóng bay đầy màu sắc. Vậy phương án B phù hợp nhất.

Question 48: Đáp án D
Giải thích: The teacher had only just come in the room when the fire alarm rang. (Giáo viên vừa bước vào phòng thì chuông báo cháy reo.)
A. Khi giáo viên đang bước vào phòng thì cô ấy nghe thấy tiếng chuông báo cháy.

B. Ngay khi chuông báo cháy reo, giáo viên bước vào phòng.

C. Trước khi giáo viên vào phòng, chuông báo cháy reo.

D. Giáo viên vừa mới bước vào phòng thì chuông báo cháy reo. 
Vậy phương án D phù hợp nhất.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 49: Đáp án B
Giải thích: He cannot lend me the book now. He has not finished reading it yet. (Anh ấy không thể cho tôi mượn cuốn sách bây giờ. Anh ấy vẫn chưa đọc xong.)

A. Đọc xong cuốn sách, anh ấy không thể cho tôi mượn.

B. Anh ấy không thể cho tôi mượn cuốn sách cho đến khi anh ấy đọc xong.

C. Miễn là anh ấy không thể đọc xong cuốn sách, anh ấy sẽ cho tôi mượn.

D. Chưa đọc xong cuốn sách, anh ấy sẽ cho tôi mượn. 
Vậy phương án B phù hợp nhất.

Question 50: Đáp án B
Giải thích: Most scientists know him well. However, very few ordinary people have heard of him. (Hầu hết các nhà khoa học đều biết rõ về ông ấy. Tuy nhiên, rất ít người dân thường đã nghe nói về ông ấy.)

A. Không chỉ các nhà khoa học mà cả công chúng cũng biết ông là một tên tuổi lớn.

B. Mặc dù ông ấy nổi tiếng với các nhà khoa học, nhưng ông ít được công chúng biết đến.

C. Nhiều người dân thường biết rõ ông ta hơn hầu hết các nhà khoa học.

D. Ông ấy là nhà khoa học duy nhất không được công chúng biết đến. 
Vậy phương án B phù hợp nhất
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